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	7.	If a = 40(, b = 60(, and M = 4.0 kg, determine the tension in string 1 shown.





		�





		a.	15 N


		b.	22 N


		c.	17 N


		d.	20 N


		e.	36 N








	16.	A block is pushed up a frictionless 30( incline by an applied force as shown.  If F = 25 N and M = 3.0 kg, what is the magnitude of the resulting acceleration of the block?





		�





		a.	2.3 m/s2


		b.	4.6 m/s2


		c.	3.5 m/s2


		d.	2.9 m/s2


		e.	5.1 m/s2








	28.	A 2.0-kg object has a velocity of 4.0i m/s at t = 0.  A constant resultant force of �(2.0i + 4.0j) N then acts on the object for 3.0 s.  What is the magnitude of the object's velocity at the end of the 3.0-s interval?


       


		a.	9.2 m/s


		b.	6.3 m/s


		c.	8.2 m/s


		d.	7.2 m/s


		e.	7.7 m/s
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	15.	If F = 40 N and M = 2.0 kg, what is the magnitude of the acceleration of the suspended object?  All surfaces are frictionless.





		�





		a.	1.2 m/s2


		b.	2.0 m/s2


		c.	1.5 m/s2


		d.	2.5 m/s2


		e.	5.6 m/s2


		d.	4.1 kg


		e.	5.0 kg





	18.	If the tension, T, is 15 N and the magnitude of the acceleration, a, is 3.0 m/s2, what is the mass, m, of the suspended object, assuming that all surfaces and the pulley are frictionless?





		�





		a.	3.1 kg


		b.	2.5 kg


		c.	2.8 kg


		d.	2.2 kg


		e.	3.7 kg








	25.	The block shown is pulled across the horizontal surface at a constant speed by the force shown.  If M = 5.0 kg, F = 14 N and q = 35(, what is the coefficient of kinetic friction between the block and the horizontal surface?





		�





		a.	0.44	b.	0.33	c.	0.38	d.	0.28	e.	0.17
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	8.	A 4.0-kg mass on the end of a string rotates in a circular motion on a horizontal frictionless table.  The mass has a constant speed of 2.0 m/s and the radius of the circle is 0.80 m.  What is the magnitude of the resultant force acting on the mass?





		a.	39 N


		b.	20 N


		c.	44 N


		d.	0 N


		e.	30 N








	25.	A sample of blood is placed into a centrifuge of radius 15.0 cm.  The mass of a red corpuscle is 3.0 x 10–16 kg, and the centripetal force required to make it settle out of the plasma is 4.0 x 10–11 N.  At how many revolutions per second should the centrifuge be operated?








	34.	A race car traveling at 100 m/s enters an unbanked turn of 400 m radius. The coefficient of friction between the tires and the track is 1.1. The track has both an inner and an outer wall. Which statement is correct?





		a.	The race car will crash into the outer wall.


		b.	The race car will crash into the inner wall.


		c.	The car will stay in the center of the track.


		d.	The car will stay in the center of the track if the driver speeds up.


		e.	The car would stay in the center of the track if the radius were reduced to 200 m.
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	7.	Answer:  d


	16.	Answer:  a


	28.	Answer:  a
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15.	Answer:  d


18.	Answer:  d


25.	Answer:  d
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8.		Answer:  b


25.	Answer:  150 rev/s (9000 rpm)


34.	Answer:  a
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